SSC CHSL 2022-23 @

of
k
o s

DIRECTION AND
DISTANCE

(MOST IMPORTANT QUESTIONS )

BY MANDEEP MAHENDRAS
() am | 05:30 PM




SSC CHSL (10+2) 2022

ILL'r' ] F
m {@suruchijha393 18 hours ago

B

=  Home work answer option C thankyou sir g & Ja

T
gy CH Reply s

- “"“-g, » 1 reply

@lovelyparvin9508 17 hours ago
Option-B

(@indukumari8754 18 hours ago
Option ¢

gy CH Reply >

{@surbhisinha7315 15 hours ago 4 subscribers

Option ccoce [E 9] HEP'? s
r

gy CH Reply s

- "““-g, = 1 reply

lll
F"{ﬁh @zikrayasmeen4058 16 hours ago v ..""-..:II i '| “E'Phr

“a” OptioncC

g5 CH Reply

g “““-3, « 1 reply

Y

ﬁ:ﬁ'-?'--. @Ravi.1 18 hours ago 4 subscribers



® T is the sister of D. D 1s married to P. P is the son of M. T is the mother of J. Y

is the father of U. Y has only one son and only one daughter. U is the daughter
of T. Q 1s the son of D. How 1s P related to T ?

* T, DI SEA 81 D, P & fo@Tied =&l P, M &I A & T,J T AT &1 Y, U T fUar 8l Y
T shacl Teh O3 3T haed Ueh T 81 U, Toht T 81 Q, D T YA 81 P, T & fofiE JahlK
Geiterd g2 m

D.None of these/szlﬁ ﬁﬁ‘%
el
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®* Aman left for his home and went km 10 east. Then, he took a left turn and

cycled 5 km and then again took a left turn and cycled 10 km. Accordingly,
how far did he reach from his house? [SSC 2012]

* 3T Y O JEAT ek TohHT 10 qofﬁclcful T, 918 ST gt 5 ferdl <t e
$H°h CICRERNCIDREEX 10%H°TH|slohc1 T STl TgEN, T8 wﬁwﬁ fepft gt o

[ ok

@ [okm
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* A cyclist goes 30 km north, turns east and goes 40 km. After that he turns right
and travels 20 km. Finally, he turns to his right and walks 40 km. Accordingly,
how far 1s he from his starting point? [SSC 2012]

* T HTgiohet =Teteh 30 ToRHT IR Q=T § SR, Tl shT TR FHERL 40 fordfl ST 2 |
36k SI1Q I8 SR FHeRL 20 TohHT SITdT 81 3, I8 3T STl ST EHeRT 40 foret
ST @ | T8N, 8 310 ST wwﬁlobd«uaﬁqr%‘?

4’0 kKm
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®* Arun travels 8 km 1n the north direction. After this he turns left and walks 3 km

and then turns right and walks another 4 km. Finally he turns right and walks 3

km more. Accordingly, how far does he reach from his starting point? [SSC

2012]

o STEUT I fewmT 1 8 Torelt oY o e AR ATE W gt 3 TerHl SITdT 8 3T T

3Rl HEoR 4 Tormt ST ST /1 37

4
T - |®|r<; I fera T g Sl

: TR A S%Jﬁ?’ﬁ'{GﬂﬂT% | AT, & )




® Roshan starts from his house and walks 2 km in East direction, then turns right
and walks 2 km, and again turns right and walks 2 km. Accordingly, in which

direction does he reach from his home?

* T 370 5T H TEAT hleh 2 TohHT ol {411 H <eTdl 8 $6eh oITe, 313 Agoht 2 fehrl
<IRACT &, T ST &1 Yot 2 fohwT =Ieiell 81 TgUR, % 19 o & fohdt forwmm o wg=r

n

Qo
K —/\ A. ast/qcﬁ
lat N

C. West/af2
D. North/3dX
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* Kritika walks 40 meters towards South, then turns to her right and walks 30
metres. Then she turns to her left and walks 50 metres. She again turns to her
left and walks 30 metres. how far is he from his starting point? ISSC-CGL

2017]

* ShfcienT 40 HIeX 3feruT it ST =rerdt 7, Ot 370 a3 feell @ 3T 30 Hiet =rerdt 2l fo
agﬂﬁ@llq T & SR 50 Hie Fardt 2l I8 [T 7] %3ﬁT3O

A.

aa?ﬁ% a‘s'amﬁmam? foig | fopaft T 22




* In a shopping complex, a woman walks 150 m towards east, then she turns to

north and walks 180 m, then she turns to west and walks 70 m, then she turns to

her left and walks 180 metres. Where 1s he now from his starting position?

® TS, JTTTOT ShiFdeTord H Teh HigaT 150 HieX 96l shi SR =eid! &, T a8 I ohi 3K
g STt @ I 180 HieT Fetd! &, Tt o2 uferd ot 3T 4 STl @ 37R 70 Hiet =rerdt

2, TR a8 o1oft amreff st g =

AT hal g ?

18 S 180-HIet Tt °1 98 ST STfvep furfa &

A. 80m West
IR0 B. 220m East
C. 220m West |
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® Puneet walked 10 km straight in south direction from point R, then turned right

and walked 12 km and again turned right and walked 7 km straight, in which
direction 1s he from point R? SSC-CGL 2017]

* gHfiel foimg R @ afeqor femmm o 10 feret efter =rer, ot e g2t qgeht 12 fereft =it qen
REE E@W7%ﬁﬁm AT I8 foreg R | fordt fammr i 2 2

A. North-East/3d¢-Ud

N

. South- gty
C. North-West/3a< Uig/H
D. South-East/E'f\&WT-tlﬁ
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* A truck goes 36 km north, then it turns west and goes 9 km, then it turns south
and goes 50 km, then it turns to its left and goes 9 km. Goes up to km. Where is
he now from his starting position? [SSC-CGL 2017]

® Teh Zoh 36 TohHT TR shl SR ST &, ThT I8 UiSr hl T A STl & ST 9 Tohet ek
ST 2, Ot a1 afeqor sht ST 9 STt & 371X 50 forwt e SiTaT &, T I8 S7uHt el
AR TE w|d|%3ﬁ19ﬁlﬁdoh SITAT ® | o8 379+ Tiyeh Rufd & e shaf @ 2

14 km, North
. 86 km, South




* From a point, Lokesh starts walking towards South and after walking 30m he
turns to his right and walks 20m, he again turns right and walks 30m. Finally he
turns to his left and walks 40 metres. In which direction is he from his starting
position? [SSC-CGL 2017]

* U forrg W, TAIheT GeT0T sht HIT ST ST HLel & qT 30 HIST =t o o183
3R AT 20 HIST AT 7, T Ot IR Fgaht 30 Hie FAdT &1 Had: 98 379 9

3+|<H5d|%aw40ﬂﬁzrdcdd|%l qsmﬁaﬁ‘hohwwﬁwwﬁ{wﬁ%?
‘ C EEaa bt S . North West/3tT ai&H
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® Abhinav walks 10 km towards North then takes a left turn. Then he walks 6 km
and takes a right turn and walks another 7 km. Finally he takes a right turn and
walks another 6 km. How far 1s he from the starting point of his journey? [SSC-

CGL 2017 ] Cin

o 37fae 3T femm <ht 371y 10 fordt m%ﬁﬂaﬁe’ﬂTHs STTaT 2l TR ag 6 TonHt
TAdT © T S TS AT 7 TorHT =¢d %vadd dswﬁmﬁwaﬁ?6

?m"lﬁclcddl%l 0|6341?Fﬁ é?aqﬁﬁohwwﬁlohddlaﬁqr%?
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® One evening before sunset two friends Raman and Arjun were sitting face to

face talking. If Raman's shadow was falling exactly on his left, then in which
direction was Arjuna facing?

* Teh {4 QMTH <kl G § T8 T 131 THA SR STS[T SATHA-HTH SIgehL STl ol &
| aﬁma T TRBTE Sioh IThT aTS @T%Tﬁ?ﬂ Al S Toher 14T 3hT S q@

. West/atsgH
. North/3dY
: East/qcﬁ

. South/ateyor
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* A person walks towards south and covers a distance of 10 km. Then, he turns to
his right and walks 15 km, after that he again turns to his right and walks 10
km. What is the shortest distance from the starting point to the ending point?

® Ueh Afh ST TR =hl ST <ot & ST 10 Fohwt gl =1 LT 81 e, 918 3 315
ST ST & 3T 15 Tt TIetdr & 38k oi1a o8 Tt S79+T 318 311 o ST & 37}
10 ﬁv‘lﬁ:«l?fl?lT%l 341T&‘Hoh forg & AT forg Te STeaaH aﬁ%‘rﬁ%‘?

I.P




* Sudhir walks a kilometer after sunrise facing the sun. Then turning to his right
he walks two km. Then turning to his right he goes one km. In which direction

1s Sudhir from his starting point?

o Gl TG o 9T G o S He ok Ueh TohHT SITaT 2| oL 318 AT qgart aT foret
TdT 21 TR 318 3T Hgeht weh TorwT ST 81 el 370 TrRfryrer € © fore fawmm o
a2

. South/ateyor
. North/3dX

: East/qcﬁ
. West/ais




® A person runs to his office in the north direction. Rotate it to the left and then
rotate to the right and then rotate to the right. In which direction 1s he facing?

® Teh S ith A hIATeTd oh fofq ST TSR1T ol AR SIS =1 98 S5 ST FHTT ST O
<SS AT S UL 318 3 AU 8 fohdt {41 3ht ST T ohteh =ict T&T 27

. South/af&gur
. North/3dX

: East/qgf
. West/aigH




® Karan, looking in the south direction, walked straight for 2 km and then took a
right turn at 90° and walked 2 km. Finally he took a left turn at 45° and walked
1 km. Accordingly, where 1s he now with respect to his starting point?

* LA, TI&T0T (ST H SEd gC e 2 fohet =retl ST a1 | 90° W TfeHT ST Hgaht 2
ToRHT ST <IeAT| ST=aic: I 45° 9 STE 7T 3 | foRHT <Al deTHT, 98 37 I

ST slq enl dei-l U hEl 8?7 A. North-west region/ 3TUL-AT8H

&

B. South-west region/af&ur-
qiE &

C. South Zone/afeIoT &1

D. South-East region/af&ro -tlﬁ

&




* A person goes 400 meters towards East. He takes a left turn and walks 400m.
Then turning to his left he walks 400 m. Finally he turns to his right and walks
100m. At what distance (1n metres) 1s he now from his starting position?

® Teh o {th QST shi I 400 HIET ST 81 IE S5 3N ASHL 400 HI STl 2] T o783
TSRt 400 HY AT 81 3 H I 0 373 HX TS 100 W T 2| 319 I8 A0

SrCfesTeh T 9 fehaT ot (dftet o) W e,

. 1300

: :\ » . 800

. 900
. 500




® Krishna went 10 km towards East. From there he walked 6 km towards West.

Then he walked 3 km towards North. In which direction is he from his starting
position?

* T el <hl 3T 10 Tohelt <t o2 & a1 6 fereft o ot 311 =rem| e =g 3 fopei
I Rl ST ATl I 379 SRR T 9 forg fagm & 29

A. North-East/30{-J{s
. North West/ 3TL-aiad
. East/ I
. West/qiem




